2-3 Outline how economies function
as production systems

i | 5, (Shape of the PPF) Suppose a production possibilities frontier of th
. f { 3 5 sE P . - & y . 3 : t £
[ 1l includes the following combinations: . (Evolution of the Household) Determine whether each it
| i Cars Washing Machines following would increase of decrease Fhe Oppsﬂur;ﬂYExpla]n i .
r! _O L5 mothers who choose not to work outside the home. e
e 100 600 answers.
f! 200 0 a. Higher levels of aducation for womer!
/ a. Graph the PPF, assuming that it has no curved segments. b, Higher inemployment rates for womel
i b. What is the cost of producing an additional car when 50 cars c. Higher average pay levels for women
il g | | e : it |0
L are being produced? d. Lower demand for fabor in industries that traditionally empioy
j:f/ ¢. What is the cost of producing an additional car when 150 cars arge numbers of women .
%H are being produced? 2. (Household Production) Many households SUDDlemTfft “QELL fs:éjh
bl d. What is the cost of producing an additional washing machine | budget by cultivating small vegetaple gardens. Ex.phailr(‘nl i
when 50 cars are being produced? When 150 cars are being of the following might influence this ‘_{md Ll - Dh laries |
produced? | 2. Both husband and wife are professionals Who e'am hig ‘sa aries.
e. What do your answers tell you about opportunity costs? h. The household IS located in a City rather than In a .rurah.aria. \
6. (Proauction Possibilities) Suppose an economy uses two resources ¢ The household is located in a region where there is a Nign Sdles
(labor and capital) to produce two goods (wheat and cloth). Capital tax on food purchases. |
is relatively more useful in producing cloth, and labor is relatively d. The household is located in @ region that has @ high property
more useful in producing wheat. If the supply of capital falls by tax rate. _
19 percent and the supply of labor increases by 10 percent, how 3. (Household Production) What factors does a housgho\de;conader
will the EPF for wﬁeat and cloth change’ when deciding whether to produce a good or service at Nome
7. (Pmc';fu.c'z‘/_on Poss@'fz’tfes)T**ere’s no reason why a production versus buy it in the marketplace? | ,
possidliities fr Otel Collidinotioe used to represent the situation | 4. (Objectives of the Economic Decision Makers) In economic analysis, ]
facing an individual. Imagine your own PPF. Right now—today— what are the assumed objectives of households, firms, and the |
you have certain resources—your time, your skills, pernaps some government? '
capital. And you can produce various outputs. Suppose you can :
e . : : ' roduction
produce combinations of two outputs, call them studying and 3-2 Outline the ?volutlon of p 1d |
partying over the centuries from the househo -.
a. Draw your PPF for studying and partying. Be sure to label the axes | to the modern corporation
of the diagram appropriately. Label the points where the PP Inter- ! 5. (Corporations) HOw did the institution of the firm get @ DOOST from
sects the axes, as well as several other points along the frontier. | the advent of the Industrial Revolution? What type of DUSINESS
b. Explain what it would mean for you to move upward and to the | organization existed before this?
left along your personal PPF. What kinds of adjustments would | 6. (Sole Proprietorships) What are the disadvantages of the sole
you have to make in your life to make such a movement along oroprietorship form of business?
the frontier? ! 1. (Cooperatives) How do cooperatives differ from typical businesses?
c. Under what circumstances would your personal PPF shift t 8. (Evolution of the Firm) Explain how production after the Industnal
outward? Do you think the shift would be a “parallel” one? Why, | Revolution differed from production under the cottage industry system.
gy ot | 3-3S ize the seven roles of government
i, . . z - mmarize e Seve 0l1e5S
8.  (Shifting Production Possibilities) Determine whether each of the e LI 5
following would cause the national economy’'s PPF- 10 shiftinward, | ) e y
outward, or not at all; 8. (Government) Complete each of the following sentences:
9 An increase in average length of annual vacations 2. When the private operation of a market leads to overproduction or
b. An increase in immigration underproduction of some good, this is known as an)
c. A decrease in the average retirement age h Goods that are nonrival and nonexcludable are known as
d. The migration of skilled workers to other countries grﬁi; 3 Goug
: ; : f c. _ arecashorin-kind benefits given to individuals as
2.4 Describe different economic systems and e WA ne
- 3 o Chie Al i e outrignt grants from the government.
the decision -makin 24 rules that deline themm ey | | ‘
5 d. Al confers an externa! tenefit on thira parties
9. (ECO/?OU?/C 3}/51‘6‘/7?3) The United States IS Dest aescrined as av iﬂf | nat are aot ai agty involved in the markeat transaction.
' ' o nf rnmmanc in the Z . fr gk O g (SRR et A : :
a mixed economy. What are some elements of commana ifn the G e o TSTOESHNG) ne JOVErNMient s pus st of Tull emp\oy-
U.S. economy? What are some market elementss vnat are sSome nant and price siability through variaticns in taxes and govern-

traditional elements”?
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